BF 2000m

JBRE 44 L K & |#52 ®FRE IB6z| 444 K & = @R IERE 44 L K & %% il
1 06:19MTF fE | 2 EX 61 07:32|HiE Bt |1 F— 121 08:40 ALE HE 2 )\
2 06:25 fgH fEZzf 1 EKETL 62 07:33 {&@E 1= 1 BEARR 122 08:49 &JIl &4 1 HhE
3 06:30 ik B 2 KiE 63 07:34|2F HIE |1 BKET 123 08:49 B4t & 1 J\KRT
4 06:31 KA BEME 1 F&/T 64 07:35 70O & 1 WHEHEE 124 08:53\F8;H ¥& 1 | EL£2T
5 06:34 #A& HEXK 1 kR 65 07:36) AR FE 2 F= 125 0857 B #E 2 e
6/ 06:37;thE EET] 1 |BRET 66 0737 —% =3} 2 /\K 126 08:58 it #EA 2 REARfR
7 06:37 JIIN BEK 2 EREETL 67 07:38;FH Hl& | 2 HEXZEH 127 09:08 #HAK XK 1R
8 06:38 ElF fE&k 1 HREI 68 07:39|)I|IBF FAKER 1 BEARE 128 09:15 R EA 1 BRE
9 06:41 Bl RF 1 BREI 69 07:39 Bhft #HFE 2 BERPR 129 09:18 K2 HK—B3 1 E4
10, 06:41 7F&EF MIFE | 1 HF— 70| 07:40 ;A7 & 2 WMHEE 130 09:26 LH #Hék | 2 | ELT
11 06:44 FIL & 2 BKET 71 07:40|FH ®Har | 2 FZ 131 09:28/ LA #iX 1 fHf
12 06:47 #38F K& |1 | K& 72 07:41 BIA #R 1 BRE 132
13 06:47 Fll BAE 1 F&T 73| 07:41#EFT EA |1 E4LT 133
14 0648 HH 9/ 2 F4/T 74 0742 BB K#c 2 BERE 134
15 06:51 RIE Hl 1 BEARIE 75 0742 HE § 2 |EEARL 135
16 06:54 jkith #iEF 1 BRET 76 0744 #tE E£=# 1 /\RT 136
17 06:55 LAY EA | 2 SuZERR 77 07:44|FK BEE | 2 fifm 137
18 06:55 #affF R 1 AMZERR 78 0745 8 XK@t 2 FEHLT 138
19 06:58 FB1E EF | 1 AMZERR 79 07:46 HRE BR 1 EERPR 139
200 0659 A == 2 \R 80 07:47 AHE IES 11\ 140
21 06:59 /MK &R 1 | LR 81 07:48 5% RE |1 RBERFR 141
22 0701 2% RE 1 KE 82 0748 ¥ ZF 1 FRR 142
23 07:02 %3 H# & 2 [gERIE 83 07:49 FH 3 |1 BEAERN 143
24 07:03 fF BAN | 2 AMZERR 84 07:51 Bf K BRABR| 1 J\RT 144
25 07:04 FR {EKEl 2 BRET 85 0751 T &% |1 X4 145
26 07:06 dLiE & IBEEENGES 86 0752 Ff F&F 3 EAEI 146
27 0706 5 {iE 3 K& 87 0753/7HIE AN 2 | FERHT 147
28 07:07 Fk BN | 2 WHHEE 88 07:54 %H HE | 2 BERGR 148
29 07.07 K & 2 k5 89 0755/IRE XK 1 |FHik& 149
30 07.07 EM MAX |1 FRE 90 07:56 #&H BN 1 EEAI 150
31 07:09 Bl £A 1 HKEL 91| 07:57/ ¢4t && |2 HFZ 151
32 07:13/ EH %% | 1 FEXRI 92 0758 jkiL BEth 1 BERIL 152
33 0714 F L FF 1 KETI 93 0758 /NF EEZ 1 B 153
34 0715 M R 2 REXI 94 08:00i&:8 @3 | 2 fifm 154
35 07:15 FH {§IE 2 /\RT 95 0800 % T ZE 2 \RT 155
36 07:16 AR BE | 1 /K 96 0801 FET FEKX 1 FEBXEH 156
37 0716 FIl S 2 F&x 97 0803 fEH #Rth 1 RBEARGHR 157
38 07:178K FHE#Hh 1 F4/T 98 0804 #3ii 2 1 BEARdR 158
39 07:18 #iTA [l 1 |BEXdL 99 08:04/fRE EE2/t 2 4B 159
40 0719 RE YRk 1 EKET 100 08:05 FEEF HA |2 \RI 160
41 07:19/ 74k IEXER 2 REAERM 101 08:06 #AMF I£FE | 2 fHfR 161
42 0720 &A® 1 Fx 102 08:08 B {£5h | 1 EEARch® 162
43 07:20 IUF ##fE 2 AMFERR 103| 08:09 = #47 | 1 RERFR 163
44, 0721 @A #+ 2 J\RT 104 08:10;I0 #ek |1 | EHLT 164
45 07:21 % EE 1 BEARIE 105 08:11 kA =@ | 2 |Hi5 165
46 0722 HE A 2 EFE&I 106 08:13 kA EEE 1 BEXRE 166
47 0723 BH MBE&E 2 BERGFR 107 0813 AL BEX 2 K& 167
48 07:23 #ARE BhE | 2 KiE 108 08:14 LL# # 2 | {Efs 168
49 0724 B X8 1 | F% 109 08:15 Hm K |1 RERFR 169
50 07:24/IE@ kiE 2 EAEL 110 08:17 &k #fh 2 F= 170
51 07:25 FFH 1hsE 1 BRETI 111 08:18 HEHH 2 |HEARE 171
52| 07:26 YRH FERk 1 EEXEH 112 0818 @A K 1 /K 172
53| 07:27 it H3k 1 BEARSR 113 08:19 g [F 2 |55 173
54 0727 KR & 1 WHfE 114 0820 Alff BX 1 FERE 174
55| 07:28/izh X 1 BKET 115 0822 KIE H&E 1 FHhE 175
56 07:28 It BEE 2 EFH&T 116 08:25 #% k% 2 REREE 176
57 07:29 th#t ZBHE | 2 SRR 117 08:28 lEH EH#E | 1 WHHEE 177
58 07:29 Al Fi 1 |/\K 118 08:33/% #=|EE 2 J\RT 178
59| 07:30//NFEJI| WBE 2 = 119 08:36&E® K¥F |1 5= 179
60| 07:32|FIE #Hth 2 REARchZ 120 08:40 ¥R #5t 2 k5 180




BF 6000m

JBRE 44 L K & |#52 ®FRE IB6z| 444 K & = @R IEfz 44 L K & %% il
1 1822 FEA HEE | 3 MR 51 20:25 —# A 1 FF 101 21:37 X5 &£ A 1 I ZERR
2 1831 %R B® 3 FREAE 52| 20:227|luO0 22X | 1 BEAERFF 102 21:39 t@ £ 2 )\

3 1833 K #FA | 3 AMERR 53 20:227 2@ HE | 3 EH 103 21:40 TN EZ 2 KRB
4 1841 BE MHHE 3 hMER 54/ 20:29/3kRO KZ |2 BA#H 104 21:40 EEO Hth 2 FEZ
5 18:45 Bt & 3 | AL ZERR 55 2029 Evk = 2 KiE 105 21:41 B, ¥BEF 1 Ki#E
6/ 18:53 ##k BX | 3 SMEFERR 56| 20:31/@R &k | 2 FuERR 106 21:46 KU @A 1\
7 18:53 Mk HFE | 3 SMEFERR 57 20:32 IBH {A 2 BFE 107 21:47 A BN 2 REXRE
8 1859RE¥ AKX 3 FREAE 58| 20:33|4%E —# |2 FEE 108 21:50 ;% BHX 1\
9 190781 BE# 3 THEE 59| 20:34| /I #EThH | 2 F— 109 2152 TH &X 1 E4&

10 19:.07 WLk 71> | 3 AMZERR 60 20:38|iHT E 1| L 2R 110 21:52 EA FHibt 1 BKET
11 1909 BKR [EAER 1 B 61 20:40 L% E 2 BARI 111 2156 ;288 #M# 2 E4AT
12 1910 HfR & R 62 20:41 Il BE 2 FHHE 112 21:57kE #E | 2 | E4T
13 19110 #MF | 2 BHEH 63 2042 ¥ BF |1 FLT 113 21:59 &l &% 1 Fx
14 19:14 H)I| & 1 FIRE 64 20:43 2R St 1 BE 114 22:03 {1 D> 1 | EL2T
15 19:16 IUF BE—ER 2 REARERTF 65 20:46/AB5 XKF1 |2 EEAT 115 22:06 IRA B= 2 E4£
16 1917 dL)il EE 3 ERET 66 20:49 FH EAX 3 FRE 116 22:09 i = 2 REXR
17) 192248 BARH] | 2 AR 67 2051 FHE KB | 2 hHERR 117 2211 K& thig 2 87
18 1925 88 EE 2 FIR& 68| 20:53| & K#E | 3 AMFERR 118 22:12 Heb #i 2 EEXRI
19 19:27 oK BR 3 | AL ZERR 69 2053 B Eth |1 F— 119 2213 548 @ 2 REARERT
20 19:38 & HAAN | 2 BA#E 70| 20:54/ #8111 [EKER| 2 F— 120 22:13| FJIl [E 2 BEXRE
21 1939 ##@ #% 3 FRE 71 2056 KB &£t |2 ELT 121 22:14 #ZE FA 1 B
22 19:41 =)l B3 | 1 BEFR 72 20:59 M #—B8 2 BRET 122 22:15 ik A VARE
23 1945 5k BE 2 ERET 73 21:01|FE ER 1 BH#F 123 22:18 IUZE 2 3 VOKICBEXIE
24 1948 1fF BE& | 2 BAFR 74 21.015% &FA 2 FRE 124 22:18 J&[R &3} 1 | WhEEE
25 19:50 {EmE BRI 1 AUMEERR 75 21:02F/xK BHR 1 HB 125 2219 HE i 1 EFRE
26/ 19:52/ LA & 2 HEEXRERM 76 21.03 HFF $BF 2 BRI 126 22:24 AT R 2 EEXRI
27 1953 BAR X 2 JNERR 77 21:04/3%)Il R 1 | Fx 127 2227 AM A% 1 5=
28 1955 IUTF EE 1 |BEART 78 21.05HE B 1 EFHL/T 128 22:30 FJIl EKX 2 ®EZ
29 1955 FAE E# | 2 FHHE: 79 21:10| KHEERE | 2 BEXI 129 22:31 &M "E 2 HE—

30 19:56 /MK FEARER 1 FIRE 80 21:11| /A% HBE 1 AT 130 22:37 {£E#% EER 1| KE
31 1957 5kH X&E 3 SRR 81 211580 H—EB| 2 E4 131 2239 HE | 2 F4I
32 1957 @)l K&t | 1 BA#E 82 21:15 ¥AH #MAER 2 BEX 132 22:39 B+ =|EE 2 \RT
33 1958 FH ez 1 FFE 83 21:17iA E#MNWH 2 FL£I 133 22:41 #EZE #T A 1 B
34/ 19:58 #7HA A, 1 FIRE 84 21:18 B KA 1 FiE 134 22:45 fnsk 185 1 BERIE
35 19:59 kL EX | 2 AMFERR 85 21:20/FH EE |2 F4/I 135 22:53 1T~ ik 1 E4
36 20:01 L& 3K | 1 BKET 86 21:20 5 xE |1 BEAERF 136 22:58 BB Kik 1 EHhE
37 2002 EAR & | 3 $EA 87 21221 FEX F‘W |1 FEE 137 23:10 A& i@ 2 |\

38 2003 AKX E£ME 1 B#E 88 21:22 TH#& AKER| 2 E£4£ 138 23:11 hE @3 3 VOKITEEXIE
39 2006 FERR BHF 2 REXREARF 89 21:23 FaMG %t 3 B 139 2312 K& —3 1 KiE
40 2007 BiE EE 1 UNER 90 21:26 JIlE EFE 2 BEXI 140 23:13 5 E2E®R 1 0B
41 2007 FE XRHF 2 BERT 91 212271 FK Bt 2 HB 141 23:14 %R BN 2 BEXIL
42| 2009 JIlO @K | 1 |BKEET 92 2128 Il BHE | 2 BRI 142 2314 H 2 |E&/T
43 20:10 ¥ IREE 1 BRI 93| 21:28/ A BIK 1 BEXK 143 23:15 B8 B4 2 |HE
44| 2010 B3I {ZFE | 1 BA# 94| 21:31|5#% H#3} |1 Fx 144 23:19 hE &3} 3 VOKITEEXIE
45 201375 BAKER | 2 MR 95 21:32 jHiE Ef 3 voxizEExE 145 23:36 IR0 ) 1 | WHEE
46 20:16 BER B 2 FEF 96 21:33| L% RE |1 EA# 146 2343 H# T/ 1 RERE
47 20:163 Tk fB% | 2 |BERK 97| 21:34 M R—ER 1 BEX 147 2347 & 7 1 EEARI
48 20:16 £J)I| K | 2 J\R 98 21:35 ARE & 1 Hif5 148 2348 BER K 1 F£=
49 20:21 #E E3 1 BRET 99 21:36 LUk BE |1 HKEL 149 23:56 £+ EX 1 Bre
50 20:24 FIE —# | 2 RBEKERF 100 21:37 {F#& #&k |1 | EL T 150 24:09 &K & 3 VOKITEEXIE




Nz 44 L K &% #= ™R [[E(ARE2ON K % g
151 24:16 Bl =Hif | 2 HHE 201
152 24178 N EH 1 EXRE 202
153 2419 E#H 2 F4H/I 203
154 24:20 ;&3 7B 1 BEX 204
155 2423 KB EAX 1 J\RI 205
156 24:31 FiE #EZ | 2 /\KT 206
157 2440 B¥ HRE 1 BEBERE 207
158 2453 #JI| BHE 2 EF4H/I 208
159 25:16 #A[E &% 1 EAR 209
160 2547 U EiE 1 E4 210
161 28:26 LU 1= 1 | EtE 211
162 212
163 213
164 214
165 215
166 216
167 217
168 218
169 219
170 220
171 221
172 222
173 223
174 224
175 225
176 226
177 227
178 228
179 229
180 230
181 231
182 232
183 233
184 234
185 235
186 236
187 237
188 238
189 239
190 240
191 241
192 242
193 243
194 244
195 245
196 246
197 247
198 248
199 249
200 250




ZF 2000m

&Rz 44 L K £ 2 B B 44 L K £ % @
1 07:40 FHFK HHY 2 (MR 51 09:15 #h &K | 2 fEERFS
2 07:46 5 == 2 |B— 52 09:15 EFTRR{EK 1 k5
3 0749 Bl BEE 2 B— 53 09:18 154K & 1 E/&F
4 0753 0O ERW 1 REAIL 54 09:20 IUTF #&3E 1 BARE
5 0754 57A XKEBE 2 RBEXRGR 55| 09:214Lil WEXR | 2 REXEH
6 07:54/ %k FE |1 K& 56| 09:25 KEHEEF 1 5
7/ 07:56 BIRF BA{E | 2 AMZERR 57 09:27 @ EBF | 1 ERE
8 08:02 /MiFH HBL 1 FRE 58| 09:30 ¥t E & 1 WEHEE
9 0805 HL B |1 FLE 59 09:31 #TE # 1 BEARfR
10 08:11 KM EAHIL | 2 KiZ 60| 09:37 E& Hf 1 E&/T
11 0813 a4t £ | 2 BBXAEH 61 0945 8FF HiE 2 ER2&EF
12) 08:13;EH MARZE| 2 KiE 62 09:54 EEAZ[F 1 5
13 08:14 HAMEE | 2 FEXRE 63 10:16 LWl BE 1 FRE
14 0817 L HF 1 FRE 64 10:26 Fpft L 1 FL
15 08:18 5 B4 2 ££ 65 10:38/HhEF XRE |1 J\KT
16 08:18fEH ZE@E | 2 |/\KK 66
17 0819 EH #@F 1 |E4LI 67
18 08:22 7 ZEMf, 1 | FEARTR 68
19 08:22 ft #bF | 2 KZE 69
20 0825 &®JIl EF 1 J\RI 70
21 08:26 Fi& &€ | 2 EEARHR 71
22 08:27 5kH % 2 AR 72
23 0830 LA BF 1 E4£ 73
24 08:30/NE KK 2 Fx 74
25 08:31 #iARFEEF | 2 RiF 75
26 08:34FEE HIK 1 RBERGFR 76
27 08:35E0A EX |1 EXRE 77
28 08:35 AHE (FDA | 1 EEKRR 78
29 08:43\#f L BE | 1 AW 79
30 08:45thF ®HAZE @ 2 REARFR 80
31 084588t BZx= | 1 45 81
32 08:49 5+ @BE |1 KiE 82
33 0851 R ZE 1 |FRE 83
34 0851 HE L9 |1 EFLE 84
35 0852 /NE BXR 1 FZ- 85
36 0853 EH ZEF 1 F— 86
37 0854 KF BE | 2 WHE 87
38 0855 Tk NEBE 2 AMEFR 88
39 08:56 #L thmM| 2 EEARSR 89
40 0857 LH FEE 1 BEAERN 90
41 0858 i E BF | 2 I\ 91
42 0859 AR =W 2 FHXF 92
43 09:00 %H EHH | 2 EAGR 93
44 09:00 At F5dE 1 BEXRER 94
45 0901 BA BEHE 2 hilEkR 95
46/ 09:02 FFp H<H | 2 EEARSR 96
47 0902 A E&F 2 hiNEkR 97
48 09:03 B1E #HE | 2 /\K 98
49 09:05 1% #F | 2 EAXEF 99
50/ 09:10 ZEH ®&E |1 FRZ 100




XF 4000m

JBR 444 K % = & [[E(ARE2ON K % |28 FE
1 1316 kA AT | 2 L—FL%E 51 16:33|HA /7 1 FRE
2 1346 Bl #hi2 | 3 BEAEE 52 1640 AE #7m 1 E4&
3 1350 ISk FHH 3 BEBAXEE 53 16:41 FHH UMY 1 BEXRFA
4) 1406 A FIKE 1 |L—FL¥ER 54 1643 ik FEL | 2 %
5 141435@A B4 1 FlREE 55| 16:45|IUK &% |1 FEE
6 1417 =/ ¥J1 3 EXEE 56| 16:47/3#F BB | 2 B#H
7 1419 EJRE #F 3 | FRE 57 16:48 H FALE 1 BEX
8 14:22 H3H HEIETn 2 L—TLERE| | 58| 17.01|BAEIE 1 k5
8 1422 2H #F 3 BEAEE 59| 17:02/ 18K BEE 1 FRE
100 1429 /A #HE | 3 |FTESE 60| 17:04/#&75 @EF 1 @&fW
11 1435 Bl S0h | 2 XfE 61 17:04/;%F KEZE 2 KE&E
12 1440 =/ Ty 3 BXEE 62 17:06/;thE BN | 2 BEAXT
13 1446 3 & 1 FREE 63| 17:16/ UK RFE 1 @&l
14 1447 %HE C32 2 HHEXAXEH 64 17198 AR 1 |5F—
15 1453 %0 BAE 3 FEA 65 17:28 AilFft &HAE 2 /\R
16 145408 MEF |1 BHEXEH 66 1739FEMHE HEE 1 K&
17 14:54 &)1l = 3 L—TLERR | 67 17:44 FH & 2 | WEHEE
18 1459/1F4K E4H 1 1 68 17:45 g % 2 )\
19 15037 BAR{E |1 BRIt 69 1753 HRIE ##F 1 B
20 15:09 *FJI| BAETE 3 HEXR{ER 70 1758/F%F)l B 2 ER/T
21 1510 &8 K#£H| 2 EXREE 71 17:59 K Yuyh 2 e
22 15:12/IBF BRE 2 BEXREE 72 1804 FEIL § 1 W15
23 1512 RB EH | 1 REATI 73] 18:10/#8K #HE |2 FLLF
24 15:153FH HE 2 BEXREER 74 1813/ %rh [ 2 |\
25 1517 %H =& 1 L—FLA%EKR 75 1818 #E FI; 2 MHEE
26/ 15:18/[LO & 1|8= 76 18:19 #E[R Z=E 1 BER
27 15:30 HIA 2 1 H— 77 1825 8BBK EE | 2 E4
28 15:32 #Ft ¥ 2 Fx 78 18:34 it ¥ 2 ERLF
29 1532 %Z@A ¥H 2 FRE 79 18:39|MNT EBERE 1 B
30 1535/ EH 2 | XfE 80 1841/ E# HEE 2 |RiF
31 1550 #&H #F 3 XfE 81 1859 Bl XE |1 BEXE
32 1552 i HK | 1 @R 82 19:11 EMHk 1 BEAREE
33 1555 /KA tig 1 Fx 83 19:21 HR 4B 1\
34 1555 FHk T 2 L—TIER | 84 2006 HFR EE |1 FER/KF
35 1557 EMA EN |1 BFRE 85 20:36 BB i |1 BEXRE
36 16:02 ¥k & IRIGED) 86 21:51 AN & |1 B—
37 16:04 Ik FiE | 2 L—TILER 87
38 16:06 }RA EBX 2 EXREE 88
39 1607 HAR AR | 2 HFRE 89
40/ 16:07 IUA ZF0E | 1 BHFR 90
41 16.08E0 FHE 2 F— 91
42 16:10 Hi& FRFE | 1 | X{E 92
43 16:13/ =ith EMHEL 1 BARER 93
44 1614 )llsm EfFE 2 REXRIE 94
45 16:15—/H0 EER | 2 |EEXK 95
46 1620 E2K BPF 1 BEXRI 96
47 16:21 #AL BKEAEE 1 B 97
48 16:28 AT FE 1 F— 98
49| 16:29 F= K &4 1 E/KXF 99
50| 16:29 F4 XFIF 1 BEAIL 100




